AW 11 Final Exam Review

Investing Money: Simple and Compound Interest.

Formulas: Simple Interest 1= Prt

Key

Compound Interest: 4=p@+2)"
n

I = interest paid :
. P = principal amount (the initial amount you
borrow or deposit)
r = annual rate of interest (as a decimal)
t = number of years the amount is deposited or
borrowed for.

e Can also be rearranged, eg.

I _ 1 1

= t.._ e r = —
¥t pr pt
Example: David invests $1500 in a GIC for 2
years. The interest rate is 2.5% per year.
Calculate the interest.

Solution I =Prt
=1500 x 0.025 x 2
=375

A = amount of money accumulated after n
years, including interest.

P = principal amount (the initial amount you
borrow or deposit)

r = annual rate of interest (as a decunal)

t =number of years the amount is deposited or
borrowed for.

n = number of times the interest is
compounded per year

Example: David invests $1500 in a GIC for 2

years. The interest rate is 2.5% compounded
quarterly. Calculate the interest.

Solution: A= P(l+2)"
n

=1500 {1 + 0425)“"2

=$1576.66

Total interest = A- P =1576.66 — 1500 = $76.66

. I£ $2000 was deposﬂed in an account w1th an annual simple interest rate of 4% for 5 years, how

much interest was earned?

I1=pht
T = (2000) (0.04)(5)
L="00

ANS: ¥ oo

. Tiffany has invested $1540 in a savings account which offers 2.4%/yr. After a period of tlme she
had earned $50.25 injinterest. How long was her money invested for?

simple
= 50.25
TI=0t (ls?‘w)(,o‘oa'-t)
£v.25= (‘IS"-E@ {001®Lt) ANS: ‘ g(’) \{ear:&

t = |.3} yess.

. Avahas invested in a savmgs account whlch offers 2%/y1} After 1 year, she has earned $.75 in

interest. How much money did she invest?

T=pct - 025
975=¢ [003()

sé Mio[ ¢ interest.

ans. ¥27.50




Simple

4. Tomas has 5 years to make $200 infinterest. If he has $2000 to invest, what interest rate will Tomas

need? :
T=pct
200 = 2000(r)(8)

- o0
M= (2ow)(3)

N A

=002 = 22

5. Catalina is looking to make $1000 in interest. She is currently investing $3450 in an account that pays
an annual | interest rate of 5%. She plans to invest for 5 years. Will she make $1000 in interest? Show
your work. Stmple-

I=Prt
T = (3459 (0059(5)
1= §6t2.50
She will nof poke &R0 ¥looo, ANS: NO

she Wt” Ml‘.e 8"2:\'0 i le
6. Kyle has decided to invest $10 000 in his savings account, which offers 2% annual inferest. He will be
investing his money for 10 years. How much more interest could Kyle earn if the 2% interest was
compounded annually? Show your work.

T=Prt | A’ {vooo(!-:— 009") f;fili
= (10000)(09D(0) | A= 12189.94 T TR
1= #2000 |1 = 12184.9% ~lo000
= 91899y - ans: Y8994

7. Derek owes $756.88 on his credit card. He makes the minimum monthly payment of $30.00. The card
has an APR of 18.99% and is compounded daily. How much will Derek owe on his card in 30 days?

5¢.%% 0.1899 \*°
:7}2;& A=72088(1+ 227

72k .88 A= 7382 ans: T 738.3|

8. i{anna is lending Logan $767.54 to buy a computer. Hanna charges simple interest at 7.2%/yr. At the
end of 5 years, Logan will repay Hanna. How much will Logan owe?

1=
T- @J syf0.072) (%)

1 =276.3] . ; S sn
67527630 = joUd9S -(—ﬁ-—iig—
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Managing Money

9. List three services offered by banks.

T TR T T e L T T O T i L D T T e S e D e A D DSl e B BT T T T L T D D D e e e T R R

okapmﬂ/gdwva W / logus t mr%/ &QS Ps

10. Kit is looking to set up a new chequing account. She has the choice between the following accounts.
Which will cost her the least if she keeps a minimum balance of $1500, and plans to make 30
transactions? Show your work.

Account Account Account

1 2 R
Monthly fee $4.00 $8.00 | $16.00
No fee with min. $1000 | $2000 | $3000
balance of ...
Number of free 10 25 | no limit
transactions
| Additional transaction $0.70 | $0.70

| fee

Answer:

AtV = 20%0.70 = */Lfoo
heck2 : 1800 +Slo®) = 1150
AC@“' 3 $|GOO ‘

Acet: 2 will cost Hhe least; -

11. When might you not want to use your debit card, and why? W h@‘\ Wi "H\AN,W Ma rmmeu:

QVefsess, P Pom gnother bank's ATM.

HM)\ servite (‘,LEWS-'

12. List 2 purposes of a debit card.

m%&w Mnu@q ow ‘pm* aaoolS‘(’SUwcaSOQ fw“#

13. What are the advantages of a credit card? {)U\ ‘rOF S‘OW)I&uM. ) Ol‘ﬁél 'I’ LArn N,wﬂ.ralg

14. Bob received a credit card statement that has a new balance of $1080.96 and a minimum payment
~ '0f $50.40. Bob makes only the minimum payment. He makes no other purchases. What will be
the unpaid balance?

1060 ‘té
1030.5'6

15. List 3 services offered by online banking.
16. What is collateral?

Answer:

03056

V(éWlM balances ‘{\‘Wwoefﬂ“\ woney, PCUM% bills.
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Working with Graphs:

17. The following graph shows the population of raccoons and chipmunks in a small residential area in

British Columbia.

Population of Animals in Residential Aresa in British Columbia
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- Describe the trend of the raccoon population. SI oW

U\ @MM FpﬁM 1999 ”2003

Hhom Jlmmluca\ decrensed uuﬂwl 7,005

18 The follomng graph shows the mmlmum hourly wages in Canadian provinces and territories, as of

May 1,2011.
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Provinces and Territories

Which territory or province has the highest hourly minimum wage?

N\M\G\wa
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'19. A hot water tank is drlpplng at a constant rate, and the amount of water in the tank is represented by _

this graph.
Lealing Hot weter‘Tank
250 -
200 ]
o
S e
£ 150 \\
=
5 i00 ]
50 - . --..___‘\
| ]
™
o .
o 2 4 & 8 10 1z 14 is i8 20

Days passed

Extend the lme to determine how many days must pass until the tank is empty. ANS l I dwﬁ»s

20. Katie discovered that her water tank was leaking at a constant rate. She coliected this data.

a) Create a hne graoh using this data.
[$0 gl f i u
lée = 1“‘-.
Waler T
Left 1 ERREn=
Task o . N ~
° 6 L 3 P M 1 ¥ T 00 B iz B (.q s l:ﬁ\
b) How much water 1 be in the tank after 9 d?  Ans: g L1
c) After how many days will the tank be empty?  Ans: lé ﬁ{a:ﬂ_\} S
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21. Maureen recorded her expenditures from the last month, Create a circle graph to display the data.

Nﬁ:c:essitic::sw Hw $2400

Non-necessities $2160

Savings $240
Expenditure Fraction Decimal Degrees Percent
Necessihies | igee| 05 | 100 | 502
Non-necesbes | *%go0 | OMS | [p2 | 45%
Savings - | Phg00 | 005 | 1§ | 52

Draw your circle graph here

Nin-Nogesss
Y,

~ 22. What would be the best type of graph to show how many students in a class like certain types of ice

cream? Justify your answer.

Ans:

ar _fvop

U{/rn um.{ % am?aw

-23. What would be the best type of graph to show the most common range of average temperatures from

a month?
ns: I’Ll“S‘lvqraM ,-.'neeg() },A-krm(_c.
- 24. Haddie collected data about the population of British Columbia over the past 30 years :
1981 2 744 467
1986 2 883 370
1991 3282 061
1996 3 724 500
2001 3 907 738
2006 4113 487
Create a bar graph based on this data, and predict the populgtion for 2011.
¢ - vitish Coluwloip: @oﬂw[ﬂiﬁm
1{‘4 - .
Y x [raalw{-nn
33 ... for 2011 %
POP A 3 l(‘.?, M1“_l'°f\
(m:“-ons) )
1S 4 -
1
0S \
0 H N i
L1 j98¢ 1441 1946 lov) wo kb
fear

Page 6




S_urface Area:

The total area of the surfaces of a three-dimensional object. Answer will be in square units, eg cm?.
Formulas are generally used to calculate surface area.

USE THE FORMULA SHEET TO ANSWER THE FOLLOWING QUESTIONS
Copy the formula carefully and then substitute values. Show all your work.

25,

1 in.

a) Draw a net for the following rectangular prism
AND record the dimensions on the net.

7 in. £=7M
4~h~nh,w w=lh

sin. h=5

b) Determine the surface area

SA= 2w+ 2Lh+ wh
(1) ¢200)(5)+ 20)8)

4+ 70+ 10

Al
=

]

26. Draw a net for the following cyhnder AND record
the dlmensmns on the net.

"

F= 3%2= [Sft
h= 1t

b) Determine the surface area to one decimal place.
Sk= 2mr* + ITch
Sh= 2 (15)+ 22(15)1)
4137 + 9.428
23 .6

1
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.1 for this net?

27. What is the surface area of the rectangular prism

-28. What is the surface area of the cylinder for this net,
to one decimal place? ’ .

I=50em  |TF F= 5
50 cm w= 0em 27 L h=210m
" = 10 cm 2
A~ 2wt A+ dwh Sh= 2uet+ Zark
= 2(0)(io) + 2(50)(10) + 2(10)(1e) =21 (54)™ 2n(54)(27)
= lpoO + 1000 + 200 = 1$3.22 + 4Al.6|
= ZZOOUV\L = 27“*‘-9m2' '

29. Determine the surface area of the following prism|

8in.

bzghlh:é“
SA= 2(%") + area of 3 FQCILM«OL!S-

1

4 + 140 + N2+ Y
284 iar

H

2( 8% + (10)(19) + ()W) +(19 |

30. Determine the surface area of the pyramid beEo’w.

6in ‘J,ﬁgsngbf
SA= b+ it (ke?)
Sh= 67+ [ bxt

T3+ 48

= ghiw-
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31. Determine the surface area of the cone below, to | 32. Determine the surface area of the following sphere,
two decimal places. to the nearest tenth of a square inch.

\ 7 ft

SA= T(rz'f' T(r-g | SP"-‘: Lf"[[rl

o T emTR v SA= ()

\2 SA= 201\ v
r (W + (D) -
50245+ $7.965
28 .23 {t*

¢

SA

L

1}

33. Gloria makes toy for her children, including wooden blocks which she paints. Which of these two designs
will be less expensive to paint?

{=Tem W= Jem

=2t 10 b=l 2em B
? mcm h= Gem -
| 12cm ' :
8 cm | & em SA= l(hé}’l) 4 area op 3 rwl':u‘jlg
8cm

= 2(28) « (908) () + (12)(5)
SA= 2lwt 28kt 2wh |

- 2(3)(8)+ 2000 +2(87) = 9+ 80: £0+46
= |2 +8+ 12 | = 2672 cm
= 322¢m"

“The redauﬂulw FrISM will be
egs expengive o paints
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~Volume and CapaCIty Volume is the amount of 3-dimensional space an object occuples Answers will be in cubic
units eg. Metric: cubic centimeters (cm?®), cubic meters {m? )or Imperial: cubic inch, cubic foot.

Capacity is the amount that something can hold and is measured in litres, gallons, pints,
Forexample: "The bucket has a capacity of 9 litres”

Example: Calculate the volume of the rectanglilar prism with length of 12 ¢m, width 2 cm and height 2 cm.

Solution:  Volume of 3d objectis Area of base x Height

The base is a rectangle — area of rectangle is | x w, so

Area of rectangularprismis | x w x h

12 x 2 x 2 = 48cm’®

34, What is the volume of this cylmder to-the 35. What is the volume of this prism, to the nearest
nearest cubic inch? cubic centimeter? To fhe heorest abic millinatre ? _

\ :‘ 95.64 in.
, 250.43 in. '
Vogoder = Tk ' A 5E - TR
r= 164 22 = '47.62in = 4257
' s | 99c~ Blon 5‘f\ria§6[¢5 So
V= w(4re2y (25043 o= 6(4257)
. . = 255 42cmt
191100 10 e i)
= @55y (65)
= 1660 cm’
e

1660cn® » loow = | 640 000 mud®

Page
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36. What is the volume of this pyramid, to the
nearest cubic centimeter? Tn cubic medres 4o £ A ecinal

plages ? | . 4
142 cm \/Hm‘"“J = Al’-ﬁ& (_"A
lpm isa .reqlnﬁlc _

85 cm

D s =4S a2
= fUé‘f’Ua\".

V= a0 | wo3027.00
j —_——

5036 27 cmPn 0.000001 = 0.503627m°

37. What is the volume of this prism, to the nearest
cubic inch?

bace i a iﬁa,;sl.,

':--L_..X_b:

Z‘Q—EZ'Q"? = 7‘7.0‘“”’
2

P e

V7 Amerh= 79.04 x 5.6
= 43,3

38. What is the volume of this cone, to two decimal
places? '

V= Tcth
15 em tone. 3
V= & W20s)
3
e = 251.33cm®
—_—

39. David works in a skateboard shop. Stainless steel
balls are inside each wheel bearing. What is the
volume of each ball bearing, to the nearest cubic
millimeter? '

= 3"[' 2= | Tam

3

= 4

VSPhe.N -3 T(r

L]

4 '(l-7_)3

= 2l wm?

[gggems——
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40. What is the volume of the given object, to the nearest cubic metre?

e ‘inamﬁu.lar prism

4.5m

a @C{'ﬁ&al&.[ﬁ-f

8.6m Pr‘lS\M

57%m

\/feo Pnﬂ\n = QWL‘

= (51(18)(56)

z 248876 m*® \/’“ Vit

b x

 rarir—

2

Vi = % height of prsm

- 53%”" 78

w7

l00.035

V, = 248974 + [00.038%

—
——

34Tm>

41. Andy, a water boy, has 250 cone drinking cups for
football players at a big game. Each cup has a diameter
of 84 mm at the top and a height of 102 mm. Calculate
the volume of carbonated water needed to completely fill
the 250 cups. Round up to the nearest liter.

A= FHwn | 0= 42 {om?=1nl

h={0Z2me~ So
&kanée.{'u - 1%\“‘10’"\*\ W1 108 m L

P=tlom, h=[0-2¢m 1 L= looont

Y2125 = foed

= 471

-

- Tth
3

—

Voo (42 (102)
3

[88 420161 % 250
UT1oSewd

n

42. The storage area in a building has a volume

of 7843.64 m’ . The boxes for the storage area
are rectangular prisms. Each has the dimensions
18.095m by 1.675 m by 3.423 m. What is the
maximum number of boxes than can fit into the
storage area

Vr&o Fnsv“.: J“‘/L
= (8.05)()675)(3.423)
|03 THEm>

-—

784364 L 03THE = TS boges.
75‘9@@3 max fan -ﬂ-}
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Drawing 3D Objects and Shapes

43. Make an isometric drawing of this structure.

45. Draw a one-point perspéctive drawing of a triangular prism. Include the horizon line and vanishing
point. '

Page
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top

Draw a frechand sketch of the stool
when assembled.

Drawing: .

Drawing:
\‘/
=
49. Geoff wants to build a model of a building that is 100 m tall, Answer:

85 m wide, and 90 m long. What could be the measurements

of Geoff’s scale model?

Seale oo [0cen ll x 8Sem wle X A eom Jors.
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50. Draw a scale diagram of this living room floor plan on grid paper, and show the scale.

7 it

21t Iﬁt

3ft

5ft

2§ ke

5 ft ; i
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